


| KFEFNXI Sad26y ft NAYIl NE

Two Week Isolation Pac
Day 1 Day 2 Day 3 Day 4 Day 5
English | To analyse the features of a | To investigate letter To explore word class To gather evidence for a newspaper To develop a rich understanding of words

newspaper report
Click on the title to access the

video for this lesson. In this
lesson, we will investigate
text-type features of a
newspaper report. We will
then compare two types of
newspaper reports
broadsheet and tabloid.
Finally, we will label or identify
the texttype features, using a
model newspaper report as
the independent task.

strings-ough,-ear,-ou, -

au, -ice

Click orthe title to access
the video for this lesson. I
this lesson, we will explore
the letter strings-ough,-
ear,-ou, -au and-ice and
the different sounds made
by each letter string. 10
spelling words will be
explained and set to learn|

Click on the title to access th
video for this lesson. In this
lesson, we will recap on
sentence types: compound,
simple and complex. We will
then recap on the dinitions
of the different word class
categories. Following this, w¢
will sort words into their
word classes and lastly,
identify word classes in
different sentence types.

report
Click on the title to access the video for

this lesson. In this lesson, we will be
starting with writing a complex sentence
with a relative clause. Next, we will look
where we would beyathering evidence or
information from if we were journalists
writing our own newspaper reports. We
will then learn how to take notes when
gathering information. Lastly, we will
practise how to use brackets in sentence

associated with chaos and confusion
Click on the title to access the video for th
lesson. Click othe title to access the vided
for this lesson. In this lesson, we will be
starting with writing a complex sentence
with a relative clause. Next, we will look &
where we would be gathering evidence o
information from if we were journalists
writing our ownnewspaper reports. We
will then learn how to take notes when
gathering information. Lastly, we will
practise how to use brackets in sentences

Maths To add numbers with more To subtract numbers with | To use inverse operations To solve multistep addition and To add and subtract integers
than 4 duoits more than 4 digits (addition and subtraction) subtraction word problems Click the title to access the video for this
Click the title to access the Click the title to access thg Click the title to access the | Click the title to access the video for this| lessonWatch the videeW! RR | y R
video for this lesson. Watch | video for this lesson. video for this lesson. Watch | lesson. Watch the videdV a dzitep A AYyGiS3ISNBQ (KSy Oz2vYl
the video W! RR Yy dzY 6| Watch the videeW{ dzo { thevideoW! aS Ay @9 additonandso i NI O A 2y & 2| Choose the level that you believe
Y2NB GKIFyYy n Rjnumberswithmorethan4| 2 LISNJ G A 2y aQ (| then complete the worksheet. Choose th| challenges you.
complete the worksheet. RA3IAGAaQ KSy| theworksheet. Choose the | level that you believe challenges you.
Choose the level that you worksheet. Choose the level thatyou believe
believe challenges you. level that you believe challenges you.

challenges you.
Wider ScienceWhat is the theory of | Music- Understanding Geography Where are all PSHELife is all about balance Geography Why does population change?
Curriculum | evolution? Syncopation the people? In this lessa, our learning objective is to | Click the title to access the video for this

Click the title to access the
video for this lesson. In
G2RIe8Qa fSaaz
5FNBAYyQa 2648
his trip on HMS Beagle. We
will then put all his
observations together to see
how Darwin came up with his
theory. His theory is called
evolution. We will apply this
new knowledge to two other
examples of evolution, mice
and giraffes.

a
a

Click the title to access the
video for this lesson. In
this lesson, you will learn
about syncopation. You
will learn a new song and
perform syncopated
rhythms. The lesson
finishes with a quiz to test
your knowledge.

Click the title to access the
video for this lesson. In this
lesson, we will be starting a
new topic all about
population! Wewill consider
how many people there are
on the planet, how this has
changed and where
populations are distributed.

learn about what makes a balanced
lifestyle. Within this lesson, we will
compare and contrast two very different
lifestyles. Our two main characters will
take part in a race which they have
prepared for very differently. Whwill
win? This will help the children to
understand that there are different
components which make up a balanced
lifestyle and from this, they will then
create a prompt to stick somewhere in th
house.

lesson. In this lesson, we will examine ho
population has changed over time, how
birth rates and death rates affect
population,and how the population of the
UK has changed.



https://classroom.thenational.academy/lessons/to-analyse-the-features-of-a-newspaper-report-chj6cc
https://classroom.thenational.academy/lessons/to-analyse-the-features-of-a-newspaper-report-chj6cc
https://classroom.thenational.academy/lessons/to-investigate-letter-strings-ough-ear-ou-au-ice-c8u34d
https://classroom.thenational.academy/lessons/to-investigate-letter-strings-ough-ear-ou-au-ice-c8u34d
https://classroom.thenational.academy/lessons/to-investigate-letter-strings-ough-ear-ou-au-ice-c8u34d
https://classroom.thenational.academy/lessons/to-explore-word-class-65k6ar
https://classroom.thenational.academy/lessons/to-gather-evidence-for-a-newspaper-report-6mvk6d
https://classroom.thenational.academy/lessons/to-gather-evidence-for-a-newspaper-report-6mvk6d
https://classroom.thenational.academy/lessons/to-develop-a-rich-understanding-of-words-associated-with-chaos-and-confusion-60w3je
https://classroom.thenational.academy/lessons/to-develop-a-rich-understanding-of-words-associated-with-chaos-and-confusion-60w3je
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://whiterosemaths.com/homelearning/year-6/week-3/
https://classroom.thenational.academy/lessons/what-is-the-theory-of-evolution-6ru32d
https://classroom.thenational.academy/lessons/what-is-the-theory-of-evolution-6ru32d
https://classroom.thenational.academy/lessons/understanding-syncopation-6cr64t?activity=video&step=1
https://classroom.thenational.academy/lessons/understanding-syncopation-6cr64t?activity=video&step=1
https://classroom.thenational.academy/lessons/where-are-all-the-people-6gv36t
https://classroom.thenational.academy/lessons/where-are-all-the-people-6gv36t
https://classroom.thenational.academy/lessons/life-is-all-about-balance-crwk6r
https://classroom.thenational.academy/lessons/why-does-population-change-6wt32d

| KFEFNXI Sadagz2ey ft

NRA Y I NE

Two Week Isolation Pac
Day 6 Day 7 Day 8 Day 9 Day 10
English | To write an opening paragraph To practise and apply To plan a recount of events To write a recount To edit a recount

Click on the title to access the video
for this lesson. In this lesson, we wil

be investigating the purpose of

semicolons angbractising how to use
them in a list. Then, we will look at
an opening of a newspaper report

and identify the 5Ws: who, what,

where, when and why. We will then
be writing our own headlines for a
newspaper report, making sure to
keep it short and snappyaktly, we

will look at the success criteria of

how to write a newspaper opening

and apply that in our own writing.

knowledge of letter strings
Click on the title to access th
video for this lesson. In this
lesson, we will recap the
letter strings-ough,-ear,-ou,
-au and-ice and the different
sounds made by each letter
string. Wewill learn a spelling
practice strategy, and the 10
spelling words set in the
previous lesson will be
revisited and tested.

Click on the title to access the
video for this lesson. In this lesson
we will look at which time
conjunctions are appropriate for
newspaper reports. We will sort
time conjunctions into the relevant
sections of the Venn Diagram.
Then, we will look at theotes that
we created from the last lesson
and add detail to the notes,
including time conjunctions and
journalistic sentence starters in the
plans too.

Click on the title to access the video f
this lesson. In this lesson, we will star|
off by investigating which sentence
starters are appropriate for newspape
reports. Then, we will look over our
plans from the previous lesson and u
them to inform our writing when
writing a recount. We will also be usin
the success criteria to support us in
our writing. We will look at a shared
piece of writing, followed by a
modelled piece of writing. Both
methods will support the children to
write their own recounts.

Click on the title to access the video
for this lesson. In this lesson, we will
look at the purpose of editing and wh
it is important. Then, we will break thg¢
editing checklist into two parts: one
that checks for punctuation, spelling
and sense; and the other for languag
choices, sentence types and structur
After we have practised editing, the
children will be expected to edit the
recounts from the previous lesson as
their independent task.

Maths To multiply 4 digits by 1 digit To multiply 2 digits To multiply 2 digits by 2 digits To multiply 3 digits by 2 digits Tomultiply a 4 digit number by a 2
Click the title to access the video for Click the title to access the | Click the title to access thedao Qick the title to access the video for | digit number
this lesson. Watch the video video for this lesson. Watch | for this lesson. Watch the video this lesson. Watch the vide& a dzf (| Click the title to access the video for
Wa dzAt GRALEAG & o0& ™ |thevideoWadzt GALI §Wadzf GALX & H RAI]o RAIAGE 0@ H RA J thislesson. Watch the vide® a dzf {
complete the worksheet. Chooseth{ 6 I NB I Y2 RSt 0 Q complete the worksheet. Choose | worksheet. Choose the level thatyou| I n RA3IA G ydzyo SNJ
level that you believe challenges yo| the worksheet. Choose the | the level that you believe believe challenges you. then complete the worksheet. Choos
level that you believe challenges you. the level that you believe challenges
challenges you. you.
Wider ScienceHow do fossils provide Music- To layer syncopated | Geography What is a population PSHEFood Glorious Food! Geography What challenges can a
Curriculum | evidence for evolution? rhythms pyramid? In this lesson, we will explore what a | growing population present?

Click the title to access the video for

this lesson. In this lessowge are

going to learn how fossils are forme|
and how they provide evidence for
the theory of evolution. We will learr

what the fossil record is and why
there are parts missing from the

record. In this lesson, you will need

piece of paper and a pencil.

Click the title to access the
video for this lesson. In this
lesson, you will review
syncopation. You will learn
some syncoated rhythms
and layer them to create a
three part texture. You will
also review the song we
learnt in lesson one.

Clck the title to access the video
for this lesson. In this lesson we w|
be exploring a new type of graph
called a population pyramid. Thes
special graphs help us to see wha
the breakdown of a population is if
terms of gender and age.

diet is and why it is so important. We
will have a very special visitor who wi
teach us the benefits of eating the
right foods and will be introduced to
the Eatwell Plate. From this, we will
have a better understanding of the
different amounts of foods we should
be eating. At the end of the lesson, w
will write a letter persuading others to

make healthier choices.

Click the title to access the video for
this lesson. In this lesson we will
explore how rapidly growing
populations in certain areas can
present challenges, especially aroun
infrastructure and resources.



https://classroom.thenational.academy/lessons/to-write-the-opening-paragraph-68tkjr
https://classroom.thenational.academy/lessons/to-practise-and-apply-knowledge-of-letter-strings-ough-ear-ou-au-ice-including-test-c9hpcc
https://classroom.thenational.academy/lessons/to-practise-and-apply-knowledge-of-letter-strings-ough-ear-ou-au-ice-including-test-c9hpcc
https://classroom.thenational.academy/lessons/to-plan-the-recount-of-events-6ct3ed
https://classroom.thenational.academy/lessons/to-write-a-recount-c4t3et
https://classroom.thenational.academy/lessons/to-edit-a-recount-60wkgr
https://whiterosemaths.com/homelearning/year-6/week-4/
https://whiterosemaths.com/homelearning/year-6/week-4/
https://whiterosemaths.com/homelearning/year-6/week-4/
https://whiterosemaths.com/homelearning/year-6/week-4/
https://whiterosemaths.com/homelearning/year-6/week-4/
https://whiterosemaths.com/homelearning/year-6/week-4/
https://classroom.thenational.academy/lessons/how-do-fossils-provide-evidence-for-evolution-6gt3ce
https://classroom.thenational.academy/lessons/how-do-fossils-provide-evidence-for-evolution-6gt3ce
https://classroom.thenational.academy/lessons/to-layer-syncopated-rhythms-6gt36e
https://classroom.thenational.academy/lessons/to-layer-syncopated-rhythms-6gt36e
https://classroom.thenational.academy/lessons/what-is-a-population-pyramid-6rt30c
https://classroom.thenational.academy/lessons/what-is-a-population-pyramid-6rt30c
https://classroom.thenational.academy/lessons/food-glorious-food-64vkec
https://classroom.thenational.academy/lessons/what-challenges-can-a-growing-population-present-65h32d
https://classroom.thenational.academy/lessons/what-challenges-can-a-growing-population-present-65h32d
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Add More Than 4-Digits

Add Mcre Than 4-Digits

1a. Use the place value counters to add
the numbers below.

1b. Use the place value counters to add
the numbers below.

10,0005 | 1,000s 1005 105 1s 10,0005 | 1,000s 1005 105 1s
Q0 (0OQOOOI0OQIC0 OO0 elo/elolele (olo]e]
QOO0 QOO QOO0 olele
o O Qo
+ +
10,0005 | 1.000s 1005 105 15 10,0005 | 1.000s 1005 105 15
> 00 |QOOROOLCOQC||00 |00 [OCO0OQIO
o olole e QO QOO
o0 Qo
77 o7
2a. Trve or false? 2b. True or false?
10,0005 10005 1005 105 15 10,0005 1.000s 100s  10s 1s
o0 00000 00 000 oo O 00000 00
o0 00 il Q0
O Q0 000 0000 alele]
| + QOO0 OO0 O * 9 0 000
{‘—? 5 a 3 5 7 q‘:;r 5 " 2 3 5
Ja, Complete the bar models below. 3b. Complete the bar models below,
A. ? A ?
7,363 4,434 9,644 3,352
B. 6,134 5,722 B. 4111 8,368
% i v ?

4a, Solve the addifion calculafions below,

10,0005 71,0005 To0s 105 15
i) 00 Q00 O 0O O
o Q 0
o0 Q 0 O ale
o ., Qo0
B 10,0005 17,0005 To0s 105 15
M @go o0 © O OO
o 0 O Q
+t00 00 O 00 ©
00 00 Q0 ©
‘x_':"'l.-"
L=a

db. Solve the addition calculafions below.

10,0005 1,000 1005 10= 1=

i) 00 O O 00 0

Q 0 00 0

OO0 O O 00 O
00 O O

10,0005 1, 000s 10405 105 1s

i) 00 OO0 OO0 O OO0

o0 0 0

00 00 O o 00

Q0 0 00

g




Add More Than 4-Digits

Add More Than 4-Digits

5a., Use the place valve counters to add
the numbers below.

5b. Use the place valve counters to add
the numbers below.

10,0005 | 1,000s 1005 105 1s 10,0005 | 1.000s 1005 105 15
QOOOOOI0OOI0COI00 QOOI000 QO Q000
@ o0 1000 o0 (O QOO000D
Qo 00000
10,0005 | 1,000 1005 105 15 10,0005 | 1.000s 1005 105 1s
%%%DDG OO0 |1000| OO0 DDGQED%%%
"'H_rlll L
o 338
&a, True or false? 4b. True or false?
& 5 1 8 3 7 4 9
2|7 0 3 5|15 F |7
+ 3 0 1 9 2 + 2 7T 3 0 3
8 8 1 1 3 8 2 & 2 9
1 1 11

=]

7a, Complete the bar models below.

A. ?
41,234 15,801
B. 112,096 24,938 75422
?

7b. Complete the bar models below,

A ?
32,347 | 2,344 47,035
B. 27190 16413
?

8a. Solve the addifion calculations below,

i) 44,058 + 13,239 =

i) L 2 0
4 | 5
+ 3 9

6 |1
5 3
8 |7

Bb. 50lve the addifion calculafions below.

i)

i)

83291 + 1,290 + 11,821 =




Add More Than 4-Digits

Add More Than 4-Digits

%a. Use the place valve counters o add
the numbers below.

7. Use the place valve counters fo add
the numbers below.

10,0005 1,0005 10005 105 15 10, (ails 1, s 1005 105 15
CERICECIEEE CEEICEE - o
coolo |oo |coolooollleaalaaal®® 888
Q00 o0 o0 0 00
oo
+ +
10, 0005 10005 10405 105 s 10, b 1, s 1005 10s 15
SECICEEIEEE, coo||/[coolooo|j0000CC00DOO
© |ooo|ooo ooollloeo yoolooolooo
000 00D cooloeco
O00 20 o000

104a. True or false?

39,276 + 8,095 + 47,488 = 136,859

10k, True or false?

7,738 + 90,843 + 54,137 = 152,918

T11a. Complete the bar models below.

A, 2

83373 |3.2%4 14,345

B. 32,507 28,574

?

4,384

11k, Complete the bar models below,

A, ?

¥.588 40,827 73 239

B. | 72485 |859| 49609
rd

12a. Solve the addifion calculafions
below,

i) 8,008 + 41,299 =

ii) & 9 0 8 4

12k, 3olve the addifion calculafions
below.

i) 34,783 + 4,035+ 146,808 =

i) 7 9|9 7 %
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1a. Caleculate the missing answer.

TThTh H T O
-

L]

oY

1b. Caleculate the missing answer.

TThTh H T O

. see

. see

) o

. *

- *
L] LR

|

2a. True or falze?

TThTh H T O
.

‘ﬁf’ 2 3 3 3 1

| 1 5

2b. True or false?
TThTh H T O
»

_— [ ] L]
L ]

2 4 2

3a. Use <, = or = symbols to complete the
subtraction.

TThTh H T O

> 2000
& a8

i?f 67,582 -42,471 25,112

|

3b. Use <, = or = symbol: to complete the
subtraction.

TThTh H T O
. @

s @
*» LA
= [
- » L]
45,894 -22,252 23,642

4a. Circle the corect answer for the
subtraction.

TThTh H T O
L

A 13,212

¢

B.13,124 C. 13,122

4b. Circle the correct answer for the
subtraction.

TThTh H T O

L I
]
. @9 L e
‘l
-— »
[ J
A.11,424 B. 11,414 C.11,434

|t




5a. Calevulate the missing answer.

5b. Calculate the missing answer.

&a. True or falze?

g 4 1 7 3
- 1 8 2 &6 5
8 5 9 0 8

&b, True or false?

5 2 1 0 9
- 2 9 7 2 1
7 2 &6 2 8

7a. Use <, = or = symbols to complete the
subtraction.

51,605-19,174 32,431

7b. Use <, = or = symbols to complete the
subtraction.

65,014 - 35,295 29,720

Ba. Circle the comrect answer for the
subtraction.

A.50835 B.51834 C. 50834

8b. Circle the correct answer for the
subtraction.

A.24084 B.25084 C.25094




7a. Calculate the missing answer.

89,006 - 71,592 =

¥b. Calculate the missing answer.

86,001 - 59,357 =

104a. True or falze?

9 ten thousands and 70 tens

subtract fifty-nine thousand, 20 tens

and 8 ones equals forty thousand,
four hundred and ninety-two

10b. True or falze?

4 ten thousands and 7 ones
subtract 2 ten thousands, 48
hundreds and ¢ ones equals
nineteen thousand, five hundred
and eight

11a. Use <, = or = symbols to complete
the subtraction.

7 ten thousands and 18 ones

subtract forty-four thousand, 62
tens and 1 one equals...

70,018 -44,62] 25,396

11b. Use <, = or = symbols to complete
the subtraction.

5,000 tens and eight subtract 19
thousands, 99 tens and ¥ ones
equals...

50,008 -19,999 30,090

12a. Circle the correct answer for the
subtraction.

40,709 - 39,784 =
A. 92 tens and 6 ones

B. nine hundred and twenty-five
ones

C. nine hundred and twenty-five
tens

12b. Circle the correct anzwer for the
subtraction.

98,042 -83,009 =
A. 15 thousands and 1 one

B. 150 hundreds, 33 tens and
3 ones

C. 15 thousands and 33 ones
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1a. 4,131 + 2,144 = £ 275, True or false?
Complete the inverse operation below to
check.

&6 2 7 5

¢

1b. 3,744 + 5232 =8 978. True or false?
Complete the inverze operation below to
check.

8 9 7 8

W

2a. Use an inverse operation to calculate
the missing numbers.

4 3 5 2

=

2b. Use an inverse operation to calculate
the missing numbers.

W

3a. Sal and Simon have a combined
score of 7,543 points. Sal scored 2,431
points. Use an inverse operation to
calculate Simen's score.

¢

3b. Bryn and Belle have a combined
score of 5,284 points. Bryn scored 3,113
points. Use an inverse operation to
calculate Belle's score.

¢

da. Tick the calevlations that are correct
agnd the inverze of each other.

A. 3544+2431=5995

B. 3564-2431=3579%5

C. 59795-35&4=2431

W

db. Tick the calculations that are correct
and the inverse of each other.

A, 4783+ 2251=¢§ 787

B. 4 78%-4738=2251

C. 4738+ 2251=498%

W




5a. 12,541 + 9,273 = 21,834, Trve or false?
Complete the inverze operation below te
check.

2 1 8 3 4

Eb. 13,849 + 1,944 = 15,793, True or false?
Complete the inverze operation below to
check.

1 5 7 9 3

éa. Use an inverse operation to calculate
the missing numbers.

P

&b, Use an inverse operation to calculate
the missing numbers.

uuuuu

7 5 4

7a. Leo and Liza have a combined
score of 34 4%1 points. Leo scored 25,4623
points. Use an inverse operation to
calculate Liza's score.

7b. Mark and Martha have a combined
score of 28 542 points. Mark scored %,243
peoints. Use an inverse operation to
calculate Martha's score.

Ba. Tick the calculations that are correct
and the inverse of each other.

A. 5344 +13747=19111

B. 13,747+ 1%,111 = 5,344

C. 5344=13747-17.111

D. 19111 =13,747 = 5 344

Bb. Tick the calculations: that are correct
and the inverze of each other.

A. 21,919-34033=12114

B. 21.919+12114 =34033

C. 34033-21.717=12114

D. 12114+ 21,917 = 34,303




Fa. 45 67%km + 53 780km = $%,495km.
True or false? Complete an inverse
operation to check if the answer is
correct.

b, 34 487m + 57.244m = 93.715m. True or
fal:e? Complete an inverse operation to
check if the answer is correct.

10qa. Use an inverse operation to
calcvlate the missing numbers.

A.17 482 + = 34,4631

B. 37,291 + = 51,473

10b. Use an inverse operation to
calculate the missing numbers.

A.23 948 + = 29 743

B. 15047 + = 31,345

11a. Andi and Alan have combined
savings of £94,023. Andi's savings amount
to £47,911. Use an inverse operation to
calculate the value of Alan’s savings.

11b. Cath and Carl combined their
money to buy a house for £8%,087. Cath
paid £51,650. Use an inverse operation to
caleculate how much Carl paid.

12a. Tick the calculations that are correct
and the inverze of each other.

A, E27.43+4581p=3818p

B. &581p- £27.43=3818p

C. 4581p=£27.43-3818p

D. £27.63+3818p =4,581p

12b. Tick the calculations that are comrect
and the inverze of each other.

A. 1849p +£11.97 = £30.44

B. £30.44+ 1849p =£11.97

C. £11.97-184%p = £30.44

D. £30.44-184%p =£11.97
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1a. Use the cards to complete the part
whole model.

1b. Use the cards to complete the part
whole model.

/55?\ 167 : &26
l/; L' 3;3\ 314 L ‘\ 141
N \ // \C / —
kHE?J!J 342 183
L. - "
#r - le
2a. Complete the bar model. 2b. Complete the bar model.
465 938
124 ? 202 ? 85 344

A

|

3a. Ben thinks of @ number. He adds and
subtracts the following numbers:

3b. Kate thinks of a number. She adds
and subtracts the following numbers:

100s 10s 1s
+ @ [ N N N EEN |
R (L N N L N N
-leeee (eee (%°°°°

100s 10s 1%

+|® N N N BNl N N
N R N @ 29909
- eee @GOG OOGOOGOO
299000 90800

']{3? What number did he start with?

'i,{ﬂ:f' What number did she start with?

d4a. Which of the following cards create a
two-step calculation that gives 8% as the

answer?
o -\‘I & h
100 10 10 10 1M 10 10 10

B!
|"' 0 101 1 10 10 1
L5 A
. ~\
10 100 10 10 10

AT
A N

4b. Which of the following cards: create a
two-step calculation that gives 222 as the

answer?
-~ T a
100 10 10 10 100 10 10 10

|"‘| 10 1 10 10 1

ey

' S
i R Ty
- 100 100 100 1 100 100 10 10

|




5a. Use the cards to complete the part
whole model.

2u3?
f/ 239&
| N 5&43 )
N / / “
1272

\/ - g

5b. Use the cards to complete the part
whole model.

. 7,081 | 2135

/ \218’ N\ 1444 |
|, 3,504 .: —

— 144u

\/ —

éa. Complete the bar model.

&b, Complete the bar model.

7,429

8,498

1,532 ? 765

? 3,009 799

7d. Tony thinks of a number.

After he adds & 424 and subtracts 2 825,
his number is 5,0%5.

1000 1,000 1,000 1,000 1,000
M 1 1w 10 10 0 10 10 10
1 1 1 1 1

What number did he start with?

7b. Alycia thinks of a number.

After she subtracts 3,724 and adds 2, 999,
her numberis 4 524.

1.000 1,000 1,000 1,000
100 100 100 100 100
M 10 1 1 1 1 1 1

What number did she start with?

8a. Which of the following cards create a
two-step calculation that gives ¢,184 a:z
the answer?

+ 3,566 4,105

5,645 -

8b. Which of the following cards create a
two-step calculation that gives 2,875 as
the answer?

+ 3,055 304
- N W
403 6,234 -




fa. Roy had £8 40%. He spent £3,678 on a
holiday and then spent the reston a TV
and a bike.

telect the two cards which show how
much he spent on the TV and bike.

i ™y

£2,573

8 -

[ £2,753 } £1,978

.

¥b. Sue had £4 112, She spent £1,%78 on
a computer and then spent the rest on a
motor bike and a handbag.

Select the two cards which show how
much she spent on the motor bike and
handbag.

' ™y

£3 889 J

£245 {

e -

£524 ]

L

10a. Complete the calculation.

10b. Complete the calculation.

6,324 -29462 = + 1,587 7,003 - =1,698 + 364
11a. Sam ha: 5431 marbles. 11b. lzzy has 2,547 pennies in her piggy
bank.
P——
L N
He won 2,558 but F : ¢t ol Thiz month she has put ‘
lost 4,278. < 2t "‘ 3,784 pennies in but has , . E
! *.l-.lﬁl taken 4,099 out. (.';
2y N e o
€ vie®

How many marbles did he start with?

How many pennies did she start with?

12a. Find a route through the table that
leads from one shaded box to the other.

12b. Find a route through the table that
lead: from one shaded box to the other.

8,346ml | - 5421ml | + 3,009ml 987g +5988g | +2977g
~2,359ml | +3,758ml | -352ml +7888g | -4009g | -8697g
+3,758ml | —3,956ml | 5,789ml ~6,186g | -1713g | 1.255g
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1a. Select the correct answer.

1b. Select the comrect answer.

4 4 6 1 7 7 6 5 4 3
- 1 3 3 8 7 + 1 6 2 0 4
A: 31,230 B: 30,630 A: 92,747 B: 92,474
i?? C: 30,320 ﬁ]’ C: 82,747
2a. True or false? 2b. True or false?
4 5 8 1 2 5 5 8 7 2
+ 3 3 1 1 9 - 2 2 4 9 1
3 3 3 3 8 1

’]’ﬁ? 7 8 9 2

|

3a. Find the value of C.

41,245 12,384

Y

3b. Find the value of B.

12,444 B

86,268

|

4a. Find the sum of and the difference
between the numbers below.

65,622 23,910

)2

4b. Find the sum of and the difference
between the number: below.

14,339 25,452

=




5a. Select the correct answer.

5 7 7 0 3 2

+ 2 3 2 1 8 3
A: 809,215 B: 812,215
C: 809,364

5b. select the comect answer.

4 9 0 3 2 7
-1 2 8 2 1 8

A: 361,109 B: 362,109

C: 362,108

sa. True or false®

131,298 + 213,555 - 152,912
= 191,941

&b, True or false?

653,786 — 345,719 + 149,371
= 457,938

7a. Find the value of B.

242743 B 147,404

540,379

7b. Find the value of A.

A 170,234 174,027

389,128

8a. Find the sum of and the difference
between the numbers below.

307,325 || 664,505

8b. Find the sum of and the difference
between the numbers below.

782,664 || 205,480




9a. Select the correct answer.
&6 8 9 2 2 5
1 &6 9 8 9
1 0 2 6 4

+

1
5
{A: '?ﬁD;?éB {B 960, ??B

[C: ?58,??8}

%b. Select the comrect anzwer.

7. 2 7 5 5 7
2 3 6 7 9 8
-1 9 7 2 2 3
LA: 291 ,536 [ B: 290,536}
[C: 2?3.536}

10a. True or false?

700,573 + 289,785 + 505,037 =
one hundred and forty-nine
thousand, three hundred and
hinety-five

10b. True or false?

800,664 — 690,981 - 100,794 =
eight thousand, eight hundred and
eighty-nine

11a. Find the value of B.

205.37& 541,523 B

nine hundred and fifty thouszand

11b. Find the value of A.

A 384,775 120,024

eight hundred and seventy-five
thousand

12a. Find the sum of and the difference
between the numbers below.

4 three hundred
and ninety
thousand, eight
hundred and
forty-tive

eight hundred A
and ninety-nine
thousand, six
hundred and
twenty-eight

12b. Find the sum of and the difference
between the numbers below.

six hundred and
ninety-five
thousand, seven
hundred and

seventy-six
_ ty

two hundred and
eighty-nine
thovsand, nine
hundred and

ninety-four
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14a. True or false? The answeris 7,634,

1,000 1,000 1,000 100 100 100 . 1 1

1.000 1,000 1.000 100 100 @ 100 . 1 1

1,000 1,000 1.000 100 100 @ 100 . 1 1

3 3 1 2
X 3

T

I

1b. True or false? The answer is 2,248,

1,000 100 .. 1 1 1 1
1,000 100 .. 1 1 1 1

1 1

2a. Complete the calculation 1,111 x 4.

woon 0 @)

1,000 1m.

1,000 'IIII. 1
1

1.000 100

I

2b. Complete the calculation 2,321 x 3.

1.000 1,000 100 100 @ 100 . . 1
1.000 1,000 100 100 @ 100 . . 1
1.000 1,000 100 100 100 . . 1

2 3 2 1
X 3

3a. There are 2,213 straws in a box.

1,000 1,000 100 1D . 1 1 1

How many will there be in 3 boxes?
Draw a representation of the calculation
to support your working out.

¢

3b. There are 4,311 counters in a bag.

1,000 1000 1000 1000 100 100 100 . 1

How many will there be in 2 bags?
Draw a representation of the calculation
to support your woerking out.

|




4a. True or false? The answer iz 12,222,

1,000 1,000 1,000 1,000 1,000 1.000 100 . 1

1,000 1,000 1,000 1,000 1,000 1.000 100 . 1

4b. True or false? The answer is 3,013,

Sa. Solve: 3572 x 3. Use a formal method
to show your working owut.

5b. Solve: 2,707 x 5. Use a formal method
to show your working out.

Th H T ]

Th H T Cr

|

&a. There are & 405 straws in a box.

4b. There are 4 821 counters in a bag.

Th H T ]

Th H T O

How many will there be in 4 boxes?
Complete the chart and use a formal
method.

e

How many will there be in 5 bags?
Complete the chart and vse a formal
method.




7a. True or fal:e® 3472 x 4 = 13 488.

7b. True or false? 4 244 x 3 =12, 798.

Th H

Th H O

T
0000
000

T
000
000

Complete the place valve chart and vsze
a formal method to help you.

Complete the place value chart and use
a formal method to help you.

8a. Complete the calculation 5,128 x 5.

8b. Complete the calculation 2,407 x é.

Th H T O

Th H T O

Extend the place valve chart to help you
cdleculate the answer.

Extend the place value chart to help you
calculate the answer.

?da. There are 7,052 straws in a box.

¥b. There are 5,310 counter: in a bag.

Th H T 0

Th H T Lo

How many will there be in 4 boxes?
Extend and complete the place value
chart to help you.

How many will there be in 7 bags?
Extend and complete the place valve
chart to help you.
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1a. What calculation is represented
below?

1b. What calcvulation is represented
below?

T o | nnen T AT mEEa
Bl W m reoreo

S . oL y | ——— —— mEE
o [1-[]- lee [ I=[]-

24a. Use the area model to circle the
mistake.

Sy

2b. Use the area model to circle the
mistake.

20 1
10] © "
fae s Fisasansns:
Ll i LT
4| w i T
I L Fiasaanann

|9

3a. Complete the area model and use

the information te finish the calculation.

20 5
10 | FEHHHE B
1 M =
T X -

3b. Complete the area model and vse
the infermation te finish the calculation.

30 2

30




4a. What calevlation iz represented
below?

4b. What calculation is represented
below?

T M ERRE T T T m

E EEFEE gl T n

0| OO O |

il I e s s i s [

I e o s e s e o [ ]

O OO O |

o e o o o m

m|m m EERE - -

B E L) ] rcor | T T [
X = X =

Sa. Use the area model to circle the
mistake.

30 3

®®
@®
®@®

20
PE® | OO
z 10) (10) (10 IEE
(19) (10)

Eb. Usze the area model to circle the
mistake.

=
=)
=)

19 (19)
(9
O

=]
F -
=)

30

)(E)(

@

®

€
C)

DDE,

@D
®

PG~

—
—
—
f—
—
—
—
—

ba. Complete the area model and vze

the information te finizh the calcvlation.

40

éb. Complete the area model and vze
the information to finish the caleulation.

¥

20

109 (09 (09 (29
CACACAT,

®®®®
®®®

30

(09 (09 (09







